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Seat Total No. of Pages: 24
No.

P.G. Entrance Examination, July - 2023
M.A./M.Sc. GEOGRAPHY
Sub. Code: 58720

Day and Date: Tuesday, 18-07-2023 Total Marks: 100
Time: 1.00 p.m.t02.30 p.m.

Instructions: 1)  All questionsarecompulsory.
2) Eachquestioncarrieslmark.

3) Answers should be marked in the given OMR answer sheet by
darkeningtheappropriateoption.

4)  Followtheinstructionsgiven on OMR Sheet.
5)  Rough work shall bedoneon thesheet provided at theend of question
paper.

1) What is dormant volcano?
A) Probably erupts again in future
B) Regularly erupts
C) Stopped erupting
D) None of these
g sreTTgE "o %@ ?
A) wfesaTa Yl Sgeh 2UATe ITeRIAl STEeTEl
B) ad 3gwh g e

C) 33 QuaT oliEeren
D) amueht A
2) branch of geography studies about stars and planets.
A) Geology B) Climatology
C) Meteorology D) Astrology
FATRIIATA U AR ITAT TSI AWM ..., T I kel STl
A) o B) amwH
C) drdmeRuT I D) e e

P.T.O.
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Which of the following gas contains maximum proportion of atmosphere?

A) Oxygen B) Nitrogen
C) Carbon dioxide D) Hydrogen
WICTeR! SHIVTET ST ATATERUTIANE STHIOT Taiier 3118 ?
A)  siifeEsH B) -mgem
C) e SEsTge D) emgeH
Which local winds blows from land to sea?
A) Sea breeze B) Land breeze
C) Mountain breeze D) Valley breeze
THHIRET TRRIhRS ATEUIR TNk IR ST ?
A) wRaR B) waedam
C) i ar D) =ar
Which of the following landform developed by erosional work of river?
A) Deltas B) Waterfall
C) Flood plain D) Natural levees
TEHT WA HIESD WieAlel Uehl VT Y&U TIR 2l ?
INEREL S B) wagEn
C) WM D) wmde
is the branch of human geography.
A) Climatology B) Geomorphology
C) Political Geography D) Biogeography
......................... & T ST Uk I 3T
A) TEWEE I B) g&u W=
C) worhr s D) s
Which of the following is the important component of population change?
A) Birthrate B) Landforms
C) Sustainability D) Literacy
WA Uehl ShIUTAT Teeh AIRHETAT SEeTII Hafed 318 ?
A) SR B) v%u
C) ngaa D) wneran
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Who says that "Geography is the science that studies the changing relationship
between the unstable earth and creative man"?

A) White and Rener

B) Vidal-De-La-Blache

C) Fredrich Ratzel

D) Miss Ellen Semple

3TV A WTCACTIEh! ShiuTe e Wi ?

A) =rEe v IR

B) frEm-@t-en-samw

C) welw Tesw

D) W& T dua

Population transition theory was propounded by

A) Fredrich Ratzel B) Frank W Notestine
C) Vidal-De-La-Blache D) Miss Ellen Semple
AR TAHHUT TG ..o T wigeT.

A) el Tesd B) vk 5] ACRTE

C) fEE-d-wn-sawm D) fi@ ve due

Which of the following is prime function of rural settlement?

A) Agriculture B) Administration
C) Industries D) Trade
TeAieTdeh! AT SETEeTe TS <hTel <hIvTd ?

A) N B) wmem

C) zmm D) =R

Which of the following layer is known as topmost layer of the soil?

A) 'A'layer B) 'B'layer
C) 'O'layer D) 'C'layer
WU ShIUTAT 2R Haedl aid Ot 2R UM ST STt ?
A) ‘Fem B) <R
C) ‘srem D) @& =R
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12) Who is the father of oceanography?

A) Ratzel B) Maury
C) Franklin D) Vasco de Gama
AWRYTETE T ShiUT?
A) Tewe B) =&
C) therfeH D) areht &
13) Which of the following is the longest ocean in the world?
A) Pacific B) Atlantic
C) Indian D) Arctic
ST Talid /IS HgMARR <hioTd ?
A) dfafrs B) 3tedie®
C) fi= wemamr D) onfew®
14) What is the average salinity of ocean water?
A 25% B) 30%o
C) 35%o D) 40%,
TG UTUAT TRTE &TRAT fehedt ST ?
A 25% B) 30%o
C) 35% D) 40%o
15) What are the deep sea deposits called?
A) Rough Material B) Sand
C) Mud D) Ooze
Wit AR (LT hE ot ?
A) WE ugnd B) @mey/ W
C) frE=m D) ==
16) Which graph is used to denote the land and ocean basin topography?
A) Hypsographic Curve B) Compound bar graph
C) Line Graph D) None of these
T o HETERRTE qe5 TT SIUaTTS! ShivTaT 3Tl aToidTd ?
A) e e B) g WU
C) W D) = &R @
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The word agriculture is derived from which of the following language?

A) Latin B) Greek

C) German D) French

"Agriculture" g v1eg Wit Uehl ShIUTe WIS TR ST STTE ?

A) e B) =

C) = D) W=

Which of the following is not a nature of the agricultural geography?
A) Distributive B) Regional

C) Political D) Scientific

TTett fieiean TeuTiehl v TET & SN e A6 ?

A) e B) Wl

C) wha D) v

In India Shifting cultivation in Assam is known as

A) Zoom or Zooming B) Walara

C) Roka D) Kumari

WRATA SATATH A ZUTAT EAATARA I TeT Shid FZUTTe ?

A)  ga/gfm B) @

C) = D) wwd

The type of agriculture which combines crop production and animal husbandry?
A) Mixed Farming B) Extensive Farming

C) Plantation D) Intensive Agriculture
fuera Scatea afoT UyUTe AT UHEERRuT STEUTT el TeRRTET ..o It
TEUTA.

A) fa B) fom

C) vem=h D) @@

In four crop combination area under each crop is

A) 100% B) 75%

C) 50% D) 25%

TR Uteh T Teeh TUeRETEET 817 .eovveneeenrenennes Zeh .

A) 100% B) 75%

C) 50% D) 25%
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22) Which soil is most suitable for cotton production?

A) Black B) Laterite
C) Red D) Sandy
R JATATETS! IV TaT AT T T2 ?

A) wBt B) st

C) d=E D) awmE

23) Soil texture is related to

A) particle colour B) particle size

C) particle structure D) particle porosity
T Ui IR Hafa IR ?

A) s B) @i SR

C) <huTrn Ui D) <hur=it |fesgar

24) What is normal range of soil pH for agricultural practices?

A) 1to3 B) 5to7

C) 10to 12 D) None of the above
FHINE ge FEEeruT |y gt fohdt et ?

A) 173 B) 5a7

C) 10712 D) = 9kt A

25) Which of the following irrigation method is useful to save the water?

A) Canalirrigation B) Flood irrigation

C) Dripirrigation D) None of the above
WIATUh! SHIVTH AT gl TTuft Sraienst Tgeare S11g ?

A) <RI B) uwe

C) f== D) = YRt AT
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What type of the resource is barren land?

A) Natural stuff B) Used resource
C) Human D) Non-renewable
TSt HIA ST TR HIEAEURT 3118 ?

A) E B) =

C) wwe D) &=

Which of the following water body covers maximum portion of earth surface?

A) Ground water B) River

C) Lake D) Ocean

WIATCTUH! VT STATIRH Y2AEA USHRTIN Faiiorh WRT SATIe 3118 ?
A)  gfFT U B) Tn

C) W D) wgeErR

Protection and conservation of natural resources is what kind of development?

A) Economic B) Social

C) Integrated D) Sustainable
TR T1EA HUTI< TR ST HeIe ST SHIvTn TRl ek 31T ?
A) e B) wmmte

C) umIs D) vmaa

Which of the following coal is the high-quality coal?

A) Anthracite B) Bituminous
C) Lignite D) Peat

WA Ueht SHITTAT hIGET ST 3T ?

A)  srrETEe B) fagfema

C) oz D) e

World forest conservation day is celebratingon
A) 21 March B) 22 March

C) 5June D) 23 July
STfereh FEaeR &7 wivten feavht w2

A) 21w B) 22U

C) S5sm D) 233
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31) Who wrote the epic Eliyad and Udisi?

A) Homer B) Thales

C) Anaximander D) Humboldt
HAifeE anuht uferare & v St ffeen

A) B) ew

C) sAaEm= D) fer

32) Who prepared the first world map?

A) Homer B) Thales
C) Anaximander D) Humboldt
SN ST eRT9N ShiUH TR Hel ?
A) W B) 9|
C) saEm= D) gdiee

33) Which of the following book written by Humboldt?
A) Erdkunde B) Anthropogeography
C) Principle of Geography D) Cosmos
WU ShIVTAT T Falee TAHT forfeet ?
A) InEHe B) sfaumStIA
C) Fmer= getae D) wmwE

34) Who put forth the concept of ideal state?
A) Aristotle B) Herodotus
C) Al-Masudi D) Strabo
YT ST TehedT ThIvT HISEH! ?
A) RS B) ®ieed
C) swwgd D) ==

35) Who is the father of possibilism?

A) Humboldt B) Davis
C) Blache D) Mackinder
FHEETE fEemERiie SR T A ?

A) TawE B) <fm

C) = D) wehH=R
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36) Which of the following country is located on the northwest of India?

A) Nepal B) Bangladesh
C) SriLanka D) Pakistan
WIEACTIEh! SHIVTAT 391 WRATE arEad fea o ?
A) Yow B) ey
C) dicram D) uiferem
37) The Himalaya is a type mountain.
A) Residual B) Domed
C) Fold D) Block
RuTera uda SHIuTe YRR uad 3R ?
A) IEE B) gHest
C) =St D) =i
38) Which state has the largest coastline in India?
A) Gujarat B) Tamil Nadu
C) Karnataka D) Andhra Pradesh
WRATA SHIVTET T TATeIeh TYGIRTRT Tl 378 ?
A) TeR@ B) ity
C) wiew D) stgwm
39) Which type of rock observed in deccan plateau?
A) Marble B) Granite
C) Basalt D) Sandstones
THIVTT TR TS TG USRI TG ?
Ny s B) 3
C) sWwe D) aresed
40) Which of the following is one of the tributaries of river Ganga?
A) Sutlej B) Yamuna
C) Mahanadi D) Cauvery
WIGTAUh! ShITTT T GTeaT SUEIUh! Ueh 3118 ?
A)  Te B) =gw
C) wEre D) &b
41) Kerala western coastal area is known as .
A) Konkan B) Coromandel
C) Karwar D) Malabar
htes UfS foRATd Tet . TEUR Sl Sl
A) R B) wRmrEA
C) wRaRr D) weEr
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state is having largest forest area in India?

A) Arunachal Pradesh B) Haryana
C) Madhya Pradesh D) Assam
................... T AT HRATATA TATA HIST SHTASTH Tl 372 ?
A)  EUTEE TN B) g@mn
C) usawRw D) amEm
Which is the largest fresh water lake in India?

A) Chilka B) Powai
C) Wular D) Dal
WRATAIA Haid HIS TS UTuaTel TaR hivTd ?

A) oo B) ueE

C) Fw D) &=
How many islands belongs to India?

A) 201 B) 213

C) 280 D) 247
RATA fehelt 92 A ?

A) 201 B) 213

C) 280 D) 247

The first private sector refinery setup by reliance petroleum Itd. is located at

A) Guwabhati B) Jamnagar

C) Mumbai D) Chennai

et vaiferem forfiee & ufeeh wrentt et Rl ..., Yo TATTH T,
A) TEEE B) <R

C) g= D) ==

The ratio of the distance between any two points on the map to the actual
distance between the same two points on the ground is called

A) Map Projection B) Map Scale

C) Linear Scale D) Conventional Signs
THRIENA RIS G g Tefict AR a A g Toig Aefict Tt et et e
TUTIRRTEAT ST TEUTATA ?

A)  FeRTIN e B)  eRten wHIOT

C) 3§ ymmT D) wrekfoes g

-10-
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Convert the fractional scale 1:60000 into verbal scale according to the metric
measurement system.

A) 1lcm=6km B) 1cm=6m

C) 1lecm=60m D) 1cm=600m
1:60000 =1 37k THIUT Higeh ATUH UGAITHR 163 THIUTA HUTGR .
A) 19 4. =6 & . B) 19t =61.
C) 17 4 =60t D) 1. 4. =600 .

What is the ideal length of a line taken while construction of linear scale
according to the metric measurement system?

A) 8cm B) 10cm

C) 12cm D) 15cm

Hfgeh AU UGAITHR 1T THIUT TR ST It SAET el fehell St w1 ?
A) 8. . B) 10%. .

C) 124 . D) 15%. .

If the source of light is placed at the centre of the projecting globe, it is called
a

A) Zenithal Gnomonic Projection
B) Zenithal Equatorial Projection
C) Zenithal Polar Projection

D) Zenithal Oblique Projection

WU YLUUTHE et GeaRTeTean et SEeaTe &1 YIIuTHT Shid TEUTdTd 7
A) TuE TYE vamu B) wme fageria veum
C) wmea g g&um D) wwex foedes waur

The profiles drawn in the direction of river flow are called

A) Latitudinal Profile B) Composite Profile
C) Superimposed Profile D) Projected Profile
A=A TaereAt fvF Shigea ST TN i RgUTdid ?

A) T T B) wg W

C) eremmifua Ty D) weifuar wgi

-11-
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Which slope is observed at the point where the contour lines are drawn very
closely spaced?

A) Gentle B) Steep

C) Concave D) Convex

T YT 3 Teles a5 SFIeR higedl 3EIel of <1 {ShTult ShIuTan Sar w2
A) Tg B) =

C) 3icdsh D) afeds®

How extend is one-inch maps?

A) 1°latitude and 1° longitude B) 15'latitude and 15' longitude
C) 30'latitude and 30' longitude D) 45'latitude and 45' longitude
Tk 3t AehToTen foR feRelt ot ?

A) 1°eEma 10 wEET B) 15 swemma 15 W@

C) 30" awEwa 30 W@ D) 45" e a 45 @

In topographical maps, railways are represented by which colour?

A) Black B) Blue

C) Red D) Brown
TG TR TAGUNT hHIUTT T I AT 2

A) e B) fem

C) = D) wufwdt
Which instrument is used to measure the air temperature?
A) Cup Anemometer B) Barograph
C) Thermograph D) Wind Vane
Al ATIHH HISTUITETS! ShiuTd ITERIUT SO ST ?

A) o 3T U B) agYR w@®
C) dUHH o E® D) =g fvmeyis

The isobaric pattern which have lowest air pressure at the center is called

A) Cyclone B) Anticyclone

C) Secondary Cyclone D) Col

TATHR FHHR e HEAHRT Faia wHl agHR 36 @ & THER W I6U™ 6
TEUTATA ?

A)  oEd B) veed

C) gawm e D) =

-12-
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Which of the following is an electronic device that processes information with
the help of sequential instructions and produces accurate conclusions?

A) Calculator B) Computer
C) Smartphone D) Television

m@wmﬁﬁﬁwmﬁwmmwwwmw
?

A) ForR B) @R

C) wewA D) fafees

Which of the following computers is also called Personal Computer (PC)?
A) Supercomputer B) Main frame computer

C) Mini computer D) Micro computer

TR T U e s (PC) SR e st W

A) TR B) T RY WUTH

C) forht T D) WRhl WU

The art and science for obtaining information about the entire earth surface or
any object on the surface without establishing any physical contact with them
is called

A) G.LS. B) G.PS.

C) Remote Sensing D) Surveying

QoA FYUT ISHITIRI {ohall ISHITISRIC! TETeN Heehrelt Hited! il Seehredl Seel Huehid
A ST G THasfauaTeR el 3§ e TS i ?

A) e, B) <h.diua.

C) {REIE D) @derm

Aeroplane is a which kind of platform of the following?

A) Geostationary Platforms B) Spaceborne Platforms
C) Airborne Platforms D) None of these

fomm 2 Ereficiteh! vt YR 3EA (Platform) 3@ ?

A) YRR A B) cmRer smEA

C) gams omm D) amaeRt A

-13-
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Which of the following is not a component of Geographic Information System?

A) Statistical Data B) Solar Energy
C) People D) Methods
WU THITAT HTIToTeh HITget U ek ATt ?

Ny i B)

C) &= D) ugdt

GNSS stands for :

A) Global National Satellite System

B) General Navigation Satellite System
C) Global Navigation Satellite System
D) General National Satellite System
GNSS < qui &4 *H& 3R ?

A) e TN Heege fowed

B) WA nyF Heense faen

C) ToEd ISR Heese faen

D) TR& T9HA Heege fen

According to Karl Pearson's Method, a linear correlation coefficient between
two variables is falls under which value range?

A) 0to+1 B) 0to-1I

C) —1to+1 D) -100 to +100

A ST UgAITAR, S T 1RaT TgaeTe TEaTeeh HIU- Shivfel 9o Juiae
Ia?

A) 0d+1 B) 0d-1
C) —-l1a+l D) -100d+100
What is a Mode?

A) The value that appears most frequently in a data set
B) Mean of given data

C) Average of given data

D) All of the above

TETh U T ?

A) T aiigdues S dest SATeiet T

B) e migd=n e

C) oo mfd v’

D) aie@wd

-14-
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Convert the Whole Circle Bearing 110° into quadrantal bearing.

A) South 110° East B) South 70° East
C) North 110° East D) North 70° East
110° gut aqes femime: urar femmioma SaiaR .

A) =feror 110°gd B) gferor 70° g
C) sw110°ud D) sw70°4d

Which of the following is not an instrument used in Plane Table Survey?

A) Alidade B) Plumb bob
C) Trough Compass D) None of these
WIATAUh! ShITT U THAA FeTeh T TASTUTd TR ST ATt ?
A) S B) et

C) i gehE= D) =Rt T
Who is the Founder of Population Geography?

A) Fredrich Ratzel B) Carl Ritter

C) G.T. Trewartha D) Alfred Wegener
TR PR T A E 7

N1 i e B) @ R

C) it Famen D) eiehE R

Which of the following is the scope of Population Geography?

A) Current Population B) Population Dynamics
C) Characteristics of Population D) All ofthese
WA VT TATREEIT ST SIS 3T ?

A) T AREE B) e Tideiiern

() e At D) i =

Which of the following factor is the part of population dynamics?
A) Migration and Population growth B) Urban development

C) Educational development D) None of these
WU THIVTAT e g TIRHEHSA TAvieiaan W'T 31T ?

A) TR d AREE 916 B) Awrd foem

C) Veifvren foerm D) =Rt A

-15-
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What is the source for information of Birth and Deaths on local level in India?

A) Census of India B) National sample survey
C) Population register D) None of these

HRATA AT TTABIER STH o TN e Afgden S o 311 ?

A) HE A sl B) g T TEeron

C) dirue e D) @ikt AT

Which region in the world is famous for the distribution of population?

A) Mountains B) Plateau

C) Plains D) Oceanic islands
FANFREEAT [IROTE SEIa ST TSI Te9T ShIvTAT ?

A) uEdE v B) uerd wew

C) #art wew D) @rd R

Which of the following is not the cause of population growth?

A) Child marriage B) Increase in Health facilities
C) Lack of Contraceptives D) Highlevel lifestyle
WA THIUTA AIREEAT T HRUT ATE ?

A) a faar B) R giada o

C) wefRIeRR |EMRn S D) S= TRuiEE

Which of the following concept is related with the ideal distribution of
population and available resources?

A) Over population B) Optimum population

C) Minimum population D) None of these

WIAUH! IV TheUAT AREE J IUGEY TLTHUT AT STEy Srawonen Safom
7

A} e s B) waiw s

C) —gdaH SArREE D) amaeRt A

-16-
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What is called for number of infants born in 1000 population in a year in a
particular region?

A) Crude Birth rate B) General Birth rate
C) Total Birthrate D) Crude Death rate
fafvrs wewma v auia 1000 FAeeEEd SHeied SIHSRTE! HE FgUTS i ?
A)  TEe TR B) wmm et

C) THEW TR D) gee ggR

Which of the following cause result in to increase in infant mortality?

A) Illiterate women B) Literate women
C) Educated family D) None of these
WU SHITTT HRUTHS HHE Jegagt areal

A)  erfutema R B) gfrfera femn

C) gfirem g D) = T

How much age is considered of child in the concept of infant mortality rate?

A) Otol year B) 0to 14 years

C) 5to 14 years D) foetus in the womb
HHF TG ThReUAd AT 9 fohelt TTEI &R STl

A) Odlad B) 0dl4=d

C) 5dl4=d D) widiet s

Who is known as the father of economic geography?

A) Smith B) Stamp
C) Chisholm D) Krugman
AT AT S T HIVTTE T AT ?

A) & B) w€wm

C) fawmen D) wmA

-17-
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Which of the following is not related to the scope of economic geography?

A) Resources B) Human economic activity
C) Humanrace D) Minerals

WAtet Ueht ShIVTd SR SETcITea STHien Haehia gt ?

A)  wngEER B) wHaren s foran

C) W aw D) wf=

Economic geography is a sub-branch of which of the following geography?

A) Physical geography B) General geography
C) Human geography D) Behavioral geography
el et €1 Wefiet Uehl hIUTea SPTeATe SUYTRET 318 ?

A)  SIEfie s B) v syt

C) @ et D) o e

High altitude lands are inferior to agriculture but which of the following is ideal
for localization of exceptional crop?

A) Wheat B) Tea

C) Tide D) Cotton

iR SSialict STt e e otema Wiy Eieliel Uehl ShivTel STUETEIeeh TUshrea
TATRISHRIOTIATS! ST9M ST STTE3Te STETd ?

A) T B) =@

C) i D) wwugH

Which of the following has proposed the theory of localization of industries?

A) Weber B) Chisholm
C) Humboldt D) Wegener
ST TUTHehIsRuTTen FIgTa Weiiel Ueht ShIvTt WigeT ?

A) AR B) faviien

C) wdree D) &R

-18-



81)

82)

83)

84)

ENT -15

Special Economic Zone policy has been implemented in India since which of
the following years?

A) 1995 B) 2000
C) 2005 D) 2010
fertw anfofer @mma RUT ARATA WU IV TEEA TEEUaTd A3 AT ?
A) 1995 B) 2000
C) 2005 D) 2010

Brazil exports its largest quantity of sugar to which of the following country?

A) India B) United States
C) Japan D) China

TSt WeHeTUeh! ShIvTET 29TTd Faid R TR fFatd st ?

A) wmE B) ©geh AN

C) UM D) ==

Which of the following Industry does not affect due to the location of raw
material?

A) Iron and Steel Industry B) Cotton Textile Industry
C) Sugar Industry D) None of these
WTATAUH! SHIUTET ITNTER Heeal HIATHT LA TRUTH 2id T8l ?

A) virg dieng 3@ B) gt s

C) ¥R 3= D) amoeht

Which of the following commodity has highest share in import of India?

A) Iron and Steel B) Cotton

C) Crudeoil D) Transport goods
WIAIAUR! SHIUTEAT IeATETEN WRAR ST SATARTA HSitereh et S8 ?
A) TR-UEg B) wmw

C) w= A D) areqs® I

-19-
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Which country has largest train network in Asia?

A) Pakistan B) SriLanka
C) India D) Bangladesh
STIT TSI HIVTET UM AT WIS 6 Heaeh IR ?

A) Ui B) e

C) w9ra D) e

Urban Geography is known from which of the following sub-branch of
Geography?

A) Social Geography B) Political Geography
C) Physical Geography D) Settlement Geography
AR A & WIeATdeh! HIUTET T ST QU SHSEe S ?

A) dmRTE e B) US&E e

C) pfich e D) = e

The word 'Urban' of Urban Geography has come from which language?
A) English B) Greek

C) Latin D) Spanish

AR spiierren 'Urban' 21 9168 ShIVTeN WIS SATeiell 31T ?

A)  suSH B) =

C) = D) wfw

Which of the following city in Maharashtra is known as Metropolitan City?
A) Sangli B) Satara

C) Mumbai D) Kolhapur

WU hivTd TERIZIIE gt WEHTR U TeEe! S ?

A) wrTE B) wm@m

C) =g D) wiegq

Which of the following is the nature of Urban Geography?

A) Areal B) Situational

C) Descriptive D) Planning based
WIATUR! TR AT FoaTire Ted hiutd 3118 ?

A) eFE B) feris=

C) auHTTS D) e

-20-
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The city of Agra is located on which river?

A) Ganga B) Ghagra
C) Yamuna D) Satly;
STTT R T2 VTN TEIhTa! THA 3T ?

A) T B) wrm
C) =g D) wdest

What is called for the process of conversion of rural settlement into urban
settlement?

A) Centralization B) Urbanization
C) Town morphology D) Town planning
TTHIUT SETEA AR SETEd BT SIUIT=AT Ushaetl Shid F2UTdTd ?

A) g B) vt

C) -WH EE= D) =R fem

Which of the following city is known as Administrative City?

A) Jamshedpur B) Nagpur
C) Chandrapur D) Delhi
WAl ShHIUTA ITER 3 TR ITER U ST Td ?
A) THIER B) R
C) “=m D) fagi
Who postulated the Concentric zone theory?

A) Richtofen B) Harris
C) Ullman D) Barges
Arehg wHicadl frgm wivh uigen ?

A) T B) 7=

C) o D) ==

Which of the following is the planned city after the independence of India?

A) Chandigarh B) Mumbai
C) Patna D) Lucknow
WU HRATAE TR BT HATEg ITEX ShivTd ?
A) e B)

C) wuem D) @At
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95)

96)

97)

98)
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Heartland Theory was proposed by Mackinder in year.
A) 1905 B) 1904

C) 1919 D) 1907

Aihet T ZETRUA G ., 1 N1 Higen

A) 1905 B) 1904

C) 1919 D) 1907

People who are politically organized in a certain territory are

A) State B) Nation

C) Province D) Region
T2 YoeeTa USTehiageea Haed AT Tlieh UM ... L)
A) T B) wu®

C) s D) ww

Identify the unmatched word

A) Himalaya B) Andes
C) Rockies D) Ganga
WIATAUh! TTeTd 7 THUT I155 ST

A) femem B) &N
C) & D) wmm

coined the word Political Geography
A) William Petty B) Socrates

C) Immanuel Kant D) Strabo
................... T TR W T8 ST Feem wiset.
A) Tctem U B) wishied
C) FegwEwe D) &
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99) The Sardar Sarovar Dam has been constructed on ~ River.
A) Ganga B) Sindhu
C) Narmada D) Krishna
TER U &[T ... AR A R
A) Tm B) fayg
C) wda D) m
100) Boundaries are mainly  in nature.
A) Circular B) Triangular
C) Linear D) Rectangular
HEHA: H T ..o TTEUTA FEATd
A) THBER B) i
C) W= D) s
¢ 6 o
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